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Assume long term total shortening is 0.1 0'/1 00' 
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.10 Additional opening of expansion joint after joint 
placement per 1 00' of contributory length 

- 0.040' ... 0.060' 

- 0.048' 

0.052' 

- 0.050' 

0.050' 

- 0.057' 

0.043' 

- 0.066' 

0.034' 

0 z .09 
-i 
(/) --------------------------------------------------------- ­ -------- ­m 
)> .08 
r 
(/) 

~ I 
:J> 
~ 
)> 
() 
:I: 
~ 

0 
0 .... ... 
Q) 
a. 

.07 

.06 Projected Rate J 
m ~ 
z 
-i 
(/) 

Cl 
c .05 
'2 
Q) 

t 
0 .04 
~ 
(/) 

.03 

I 

.02 mr':::1 .5 I 
"0 Vl I u Cl) 

·;::; ~ I 

.01 ~ (i5 I 

w 2 
I 
I 

I 

I 

I 

I 
6 12 15 30 52 

"0 Weeks After Stressing 
~ 
m 

,, 


>

f""f" 

S' 

n::r 
8 

rD 
::s 
~ .... 


~ 
m
s:: 
0 
-1 
0 
0 
m 
(/) 

G5 z 
m 
lJ 
(/) 

-...,J 
I ....... 

0 

5 

:J> 
() 
:X:
s:: 
m 

~ 
(/) 

• 
(J) 
m 
:!l m
s:: 
ro 
m 
lJ 
....... 

(() 
(() 
~ 




